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Cosmic test for TOP CSC (all point)

4 scintillation counter ( 600x150 mm )

used
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Cosmic test for BOT CSC (all point)
4 scintillation counter ( 600x150 mm ) used

Occupancy X Occ upancyY
1200+ Strip1 |11 1200 Strip 1 |11
1000 Strip2 |1 1000 jl Strip 2 [
2 800 Strip3 |11 2 800 i Strip 3 |_I1
E 600 Strip4 |1 E 600 Strip 4 [
400 i 400 A A ' \
200 200 4
Rod 2t A 1 t
1 1 1 1 ] 1 1 1
B+ 0 500 1000 1500 2000 2500 3000 3500 40000 [B + 0 500 1000 1500 2000 2500 3000 3500 4000 4500
<] Strip Channel | M2
Track v XFit  StdX X_mean RMS.X :“—'“i“ :i‘-ma" YFit Sty Y.mean RMSY — Min.dst size
AmplX 212 | femi|  [mo | a7 | $00|Ja000 | apy | [EEe| [ess | [EEEa| W1
140+ AmplX |_[L 120- AmplY | [
120 Fit X 100 i | Rty _I°
i
. 100 ) % |
2 8 a
= =
o o 60- i
& 60 b
a0 | 40—
20 20 T
o_|J 1 1 1 1 1 1 1 1 O_J 1 1 1 1 1 1 1 1
- n 250 500 750 1000 1250 1500 1750 2000 2250 2500 2750 3000 n 250 500 750 1000 1250 1500 1750 2000 2250 2500 2750 3000
ﬂﬂl Amplitude ';Hﬂl I Amplitude
X ClustNum Mean XNum X ClustSize Mean_X5ize ¥ ClustNum Mean YNum Y ClustSize Mean_Y5Size
80000 — [1,127 30000- 4,661 80000 1127 | 30000- [4.713
25000 25000
GOOO0 | BGOO00
20000 20000
2 ] a 2 B
c c = £
o 40000 o 15000 a 40000 o 15000
i i | i i
10000 10000
20000 20000 C
5000 J 5000 J L|_‘
0- 1 0 o 0- 1 05 o
0 5 10 15 20 1] 5 10 15 20 0 5 10 15 20 0 10 15 20
ter Number Cluster Size ter Numher luster Size

Events Nclx = Ncly
Eff Top 2|
Eff Bot 2|JE-K

EFF_Full

Events Nclx >=1 8 Ncly >=1
Eff Top [}
Eff_Bot LW

eff_Full 2N

Point 3 Point 2 Point1




OpHopoaHocTb Xapaktepuctuk TOP CSC Baonb Kamepbl

9P PeKTUBHOCTDL Amnauntypa X Amnauntyga Y Pasmep Knacrepa

OpHopopHocTb XxapaKktepuctuk BOT CSC Baonb Kamepbl

9P PeKTUBHOCTDL Amnautyga X Amnautypa Y Pasmep Knacrepa




